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Directions:- Q. Nos. 6-8 Choose the correct preposition to be filled in the blanks.

6.

Mohan’s allegiance .............. Marxism has been questioned by his friends.
A)to B) for C) with D) by

You may not draw any inference ............. this story

A)to B) from C) by D) for
Everybody is prone .......ccccceeienaee erkor.

A)in B) by Cryto D) with

Directions:- Q. Nos. 9-10:- Choose the correct meaning of the idioms/phrases.

9.

10.

11.

12,

to flog 2 dead horse.

A) to be enthusiastic B) to deceive someone

C) to repeat one’s action D) to waste eneryy
Hobson’s choice

A) virtually no choice B) abundance of choices
C) conditional choice D) choice made by Hobson

The first Lokpal Bill was passed in the forirth Lok Sabha in the year?
a) 1967 b) 1969 <) 1970 d) 1985
Which of the following Banks came in to existence as a result of an Act passed by the

Parliament of India?
a) Punjab and Sind bank b) ICICY bank
c) State Bank of India d) Canara bank
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13.  The first Administrative Reforms Commission was headed by?
a) Morarji Desai b) Veerappa Moily
c) Raj Narain d) Chaudhary Charan Singh

i4.  The first state in India to constitute an institution of Lokayukta is?
a) Karnataka b) Himachal Pradesh
c) Kerala d) QOrissa

15, Which is the first Bank in the world to issue credit cards?
a) bank of America b) bank of England
c) Franklyn Templeton d) ICICT bank

16. In which of the following countries, the 15" G-15 méeting will be held in 2012?
a) India b) Pakistan c) China d) Srilanka

17.  Man Booker International Prize is presented after every?
a) two years b) three years  ¢) four years d) yearly

18. What does CPU stands for?
a) Central Processing unit b) Control and Process Unit
c) Control Programming Unit  d) Central Programming Unit

19.  In which year the Environment Protection Act was enacted in India?
ay’ 1976 b) 1986 c) 1987 d) 1995

20. The Gir forest, famous for lions is situated in?
a) Rajasthan b} Maharashtra «¢) Gujarat d) Orissa

Each of the following questions consists of two words that have a certain relationship with each
other, followed by four lettered pairs of words. Select that lettered pair which has the same
relationship as the original pair of words.

21.  Doctor : Hospital
a) Chef': Kitchen b} Waler : Lake
c} Carpenter : Hacksaw d) famer: village

22.  Coin : Mint
a) Grain : Field b) ‘Hay : Stable
c) Wine : Brewery d) Book : Publisher

23. Find the odd man out.
a) flute b) bagpipe c) cymbal d} bugle
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24

26.

27.

28.

29.

31

32.

33.

34. -

Find the odd man ocut
a) tennis b) hockey ¢) cricket d) badminton

How many independent meaningful words can bie made from the word LAPROSCOPY
without changing the order of the letters and using each letter only once?
a) one b) two c) three d) four

If rain is called water, water is called air, air is called cloud, cloud is called sky, sky is
called sea, sea is called road, where do the acroplanes fiy? :
a) Water b) road c) sea d) cloud

What would come in the place of “?”ADHM, ZWSN = CFJIC ,?
a) YVRM b) WTPK ¢) XUQL d) ZXVT

If 18514 stands for AHEAD, what does 31385 stand fox?
a) CATCH b) CASSET ¢) CONQUER d) CACHE

Complete the series: AZ, GT, MM, ? , ¥YB
ayKF b)SH c) RX d) TS

In 2 certain code, PROSE is written as PROQE, How would LIGHT be written?
a)y LIGFT b) LGGHT ¢) LG'GFT dYIEHR

Which of the following types of Contracts must not be in writing?
a) Contract of insurance b) Negotiable instruments
) promise to pay time barred debt d) agreement by way of wager

An agreement which compels a debtor to do rranual labour for the creditor as long as
the debt is not repaid in full is?

a) valid b) void ¢} voidable d)none of the above

Which of the following statements regarding 2 minor is true?

a) a minor can become a partner in a partnership firm

b) a minor can share the profit of a partnership firm

c) become a guarantor for other partner

d) none of the above

In which of the following situations, 2 valid contract comes in to existence?
a) Simon agree with Peter to discover treasure biy magic

b) James makes bid at a public auction

c) Albert takes a seat in a public road transport bus

d) Paul promises in writing to pay Rs.500/- to Robert
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35.

36.

37.

38.

39,

X an artist contracts to act at a theatre for an year in consideration of sum paid in
advance by Y. On a number of occasions X is too ill to act. Which one of the following
in this case will be true?

a) Y can claim compensation for failure on the part of X

b} the contract to act on such occasions ‘will be considered as void
c) It becomes an voidable contract

d) none of the above

Which of the following statement is true?

a) A stranger to contract can enforce a -contract under the Indian Contract Act

b) A stranger to consideration can enfo rce a contract under the Indian Contract Act
c) A stranger to contract as well as a stiranger to consideration, can enforce a contract.
d) Enforceability depends on the terms :and conditions agreed between the

parties regardless of stranger to cont ract or stranger to consideration.

In a certain case court issued summons ¢ o plaintiff, requiring bim to give evidence in
a case Defendant executed a promisscry note in favour of plaintiff promising to pay
certain sum of money for this trouble. Later defendant refuses to pay. Which of the
following statements in this regard is true?

a) Plaintiff can legally enforce this agreement and recover money as promised
b) Plaintiff cannot legally enforce it for want of consideration

c) Plaintiff cannot recover for want of privity of contract

d) Tt was only a social obligation and' can not be legally enforced.

A minor misrepresents his age and obtain a  cash loan from a money lender for his
personal needs. He spends the money ane! later on refuses to pay. Money lender files a
case under the doctrine of restitution for returning the money advanced to him for his
personal needs. Which of the following statement is true in this case?
a) the minor is Hable as the doctrinz of restitution clearly states that 2 minor who
obtains some undue benefit by misrepresenting his age can be conipelled to restore
the ill gotten gains.

b) No, the doctrine of restitution is not applicable in this case as cash has already been
spent.

c) Not liable as a minor can not be compelied to restore any sort of
benefits obtained by him.

d) A minor is liable if there is some specific agreement between both the parties in
this regard irrespective of the provisions in the onfiract Act. :

Which of the following term describes acceptance of o less performance than what was
actually due under the contract? :

a) novation b) rescission
<) remission d) commercial impossibility
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40.

41.

42.

43,

44.

45.

46.

47.

48.

A cheque as a Negotiable instrument s a type of?

a) bill of exchange
b) . promissory note
c) bill of exchange with additional qualifications
d) promissory note with additional qualifications

Which of the following is a promissory note?

a) Harish promises to pay Rs.500/- to Sachin after his marriage » ith Suman
b) Mohit promises to pay as soon as possible a sum of Rs.2000/- to Mohan
c) Ravi promises to pay Roban R.600/- seven days after the death of Manu
d) both {2} and (¢) are promissory notes.

Crossing on 2 cheque can be cancelled by?
a} holder b) payee ¢) drawer d) drawee

Which of the following is true?

a) presentment for acceptance is required in case of every bill of exchange

b) presentment for acceptance is required in case of ¢very promissory note

c) presentment for acceptance is required in case off every bill of exchange
payable after sight -

d) all the above statements are {rue.

“Payment for honour” relate to which of the following Negotiable instruments?

a) bill of exchange b) promissory nite
c) cheque d} all of the aboyve

Suit under Section 6 of the Specific Relief Act shall be brought within 2 period of?

a) three months b) six months
c) one year d) three years

Suicide is an offence under which of the following section of IPC ?
a) Section 309 b} Sectior 306
c) Section 303 d) none of the above

A company has a right to retain goeds or property of a debtor for the debt. This right is

known as?

a) set-off b) lien c) appropriation d) charge
Which of the following is not a Stock-Exchange security?

a) government promissory notes b) Port: Trust bonds

c) debenture of companies dj participation certificates

2.5 Eng-Page 5 0of 12



49.

50.

51.

52

53.

54.

55.

An insurance policy in which a person pays premiums for 2 fix term and gets a fix
amount per month after the term of policy is called?

a) endowment policy b) term insurance

¢} annuity insurance d) none of the above

A marries B and takes a life insurance policy of 1,00,000/- in B's name and pays regular
premiums. Before maturity A divorces B and B dies soon thereafter. A wants to claim
from the insurance. Which of the following in this regard is true?

a) A cannot make the claim as he has no insurable interest left in the life of B

b) A can make a valid claim irmzspective of divorce

c) insurable interest is an inevitable factor in insurance and the claim cannot be allowed
d) none of the above

Which of the following is not 2 contract of indemnity?

a) life insurance b) fire insurance
c) motor vehicle insurance d) marine insurance

What will be the relationship between a banker and a customer when 2 bank accepts
securities for safe custody?

a) trustee and beneficiary b) principal and zigent
c) debtor — creditor d) none of the above

Which of the following sections of the Income Tax act ¢ieals with the provision of PAN?
a) Section 139 - b) Section 139A ¢) Section 140 d) Section 140A

There was a tree on the defendant’s land the branches of which were hanging over the
highway. The branch suddenly broke off and feli on the plaintiff's vehicle.  What is
the liability of the defendant?
a) The defendant is liable as he was aware of the hanging branch and the possible
danger it can cause.
b) The defendant is liable as non pruning of the branch hanging over the highway
definitely amounts to nuisance

c) The defendant is not liable as it is only a remote possibility which could not
ordinarily be foreseen that the branch may fall and cause  damage to the plaintiff.

d) Liability depends upon the guantum of damages and iable in case of any serious
damage only

An act which is ultravires of the company is?

a) voidable and can be ratified by majority shareholders
b) void and cannot be ratified
c) company can validate it by the consent of all the shareholders

d) company can ratify it by altering the ariicles
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56.

57.

58.

59.

60.

61.

62.

63.

64.

Out of the following which is an exception to the rule of privity of contract?

a) Trust b) fiduciary relation
c) employer employee d) husband and wife
A company carries on business for more than months after the number of its

members has been reduced to below seven/two (public/private), every member who
knows this fact is severally liable.
a) one year b) six months  ¢) two months  d) three months

On which of the following principle the law of tort is based?
a) volenti non fit injuria b) ibi jus ubi remedium
c) ubi jus ibi remedium d) res ipsa locuitor

Out of the following which does not belong to the category of workman?
a) an employee who has been dismissed b) a retrenched employee

c) employee of a prison d) a person working as an apprentice

Which of the following correctly describes lock cut?

a) it is suspension of work by the employees
b) it is suspension of work by the employer
c) suspension of work due to shortage of raw material

d) all of the above

If there is 2 minimum of workmen employed on any day in the preceding 12
months, the government may direct the industrial establishments to form a Works

Committee under the Industrial Disputes Act?.
a) 100 b) 50 c) 206 d) 20

Under which section of the Industrial Disputes act, the government can refer an
industrial dispute to a labour court?
a) Section 10 b) section 9 ¢y section 11 d) section 12

Which of the following Article of the Constitution of India provide for the establishment
of Administrative Tribunals?

a) Article 322 b) Article 323 c} Article 323A d) Article 323C
Which of the following correctly describes strike?

a) It includes all sorts of cessation of work

b) it is intentional slowing down of production

c) it is cessation of work coupled with gherao of management

d) it is cessation of work under common vnderstanding
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65.

66.

67.

68.

69.

70.

71.

72.

The minimum number of directors of a public company is?
a) two b) three c) four d) seven

The first meeting of the share holders after the incorporation ¢f the company is called?
a) General meeting b) Statutory meeting
c) Mandatory meeting d) Share holders meecting

Equity shares issued by a company to its employees or directors at a discount for
consideration other than cash for providing know-kow or making available rights in the
nature of intellectual property rights or value additions is known as?

a) cumulative shares b) cumulative preference shares

c) sweat equity shares d} participating preferenoe shares

Who can be held liabie for offences committed by a co?

a) all the directors
b) Managing Director
c) Director or manager in charge responsible for the affairs of the company

d  both(®) & (¢)

What will be the penalty for failure to maintain books of accounts or records as per
Section 15A of SEBI Act 19927

a) one lakh rupees for each day or one crore rupees whichever is less
b) one thousand rupees for each day or one lakh rupees whichever is less
c) one thousand rupees for each day or ten lakh rupees whichever is less

d) 500 rupees per day for each day or rupees 50,000 whichever is less.

Which of the following parties may obtain specific performance under Section 15 of the

Specific Relief Act?
a) a party to the contract b) any representative in interest
¢) any beneficiary under the contract  d) all of the above

Which of the following factors to be taken in 9 account while imposing penalty
accerding to section 15J of SEBI Act?

a} the amount of disproportionate gain b) loss caused to investors

c) repetitive nature of the default d) all of the above

The segregation of ownership and management from the trading rights of the members
of a recognized stock exchauge in accordance with a scheme approved by the SEBIY is
called?

a) corporatization b) d emutualization

c) derivation d} riutualization
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73.

74.

78.

76.

77.

78.

78.

806.

An appeal lies to which of the fullowing courts on the decisions of Securities Appellate
Tribunal constituted under the Securities Contracts (Regulation} Act 19567

a) High Courts b) Supreme Court :

c) District Courts d) there is no provision for appes!

The companies are liable to pay advance Tax im four installments and the first
installment shall be payable by?
a) 15 June b) 30 June  ¢) 15 July d) 317 July

An individual dispute can become an industrial dispute if ?

a) his cause is supported by a number of other employees
b) he has been dismissed or retrenched from service

c) both (a) & (b) above

d) only (a) is correct

Which of the following agreements have not been expressiy specified to be void by the
Indian Contract act?

a) agreement by way of wager b) agreement in restraint of trade

c) agreements to do an impossible act d) agre:ement to pay a time barred debt

A promise to péy a time barred debt is valid?
a) if it is in writing b) if it is oral

c) it may be oral or in writing  d) none of the above

‘Which of the following statement is true?

a) limitation bars remedy but does not destroy right
b) limitation bars remedy as well as right

c) limitation neither bars remedy nor bars right

d) limitation bars right but does not destroy remerly

What is the period of limitation for filing of suit for specific performance of a contract?

a} three years from the date fixed for the performance
b) two years from the date fixed for performance

c) one year from the date fixed for performance

d) none of the above

What is the limitation peried for foreclosure by a mortgagee?

a) 12 years when the money secured by the mortgagze becomes due
b) 30 years when the money secured by the mortgagee becomes due
c) 18 years when the money secured by the mortgiegee becomes due
d) 24 years when the money secured by the mortgagee becomes due
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81.

82.

83.

84.

85.

86.

87.

88.

89.

An insured workman is entitied to which of the folewing benefits under the ESI Act?
a) sickness and cash benefit b} maternity benefit
c) disablement benefit d) all of the above

Which of the following is not an industrial establishment under the Industrial disputes
Act?

a) a mine b} a factory ¢) aplantation d) nonz of the above

The provisions relating to lay off and retrenchment applies to an industrial

establishment in which not less than__ workmen were employed onr an average per
working day for the preceding twelve months.
ay20 b) 50 ¢) 100 d) no specific limits

An undertaking was set up for the construction of a bridge employing less than 40
workmen. After the completion of the bridge it was vo close down the undertaking. It
needs to serve on the appropriate government a notice of?

2) 30 days b) 60 days ¢) 90 Gays d) no notice needed

The first directors of a company hold office?

a) for three years

b) till the first annual general meeting

c) first annual general meeting or three years whichever is earlier
d) none of the above

A debenture holder is a?
a) member of the company b a creditor of a company
c) member as well as creditor ) neitlaer a member nor creditor

The Chief Information commissioner under t/a¢ RTI Act will be appointed by a three
member Committee consisting of?

a) prime minister, leader of opposition and 2 union cabinet minister
b) speaker, leader of opposition and a union cabinet minister

c) prime minister, law minister and the leader of opposition

d) speaker, law minister and a union cabinet minister

The Information Officers under the RTI Act 2005 shall hold office for a term of?
a) five years b) four years -y thres years d) six vears

The essential constituent of joint liability is?

a) participation b) common intention
c) actus reus dx intention as well as participation
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920.

91.

92.

93.

94.

95.

96.

A decree under the Code of Civil Procedure does not include?

a) the rejection of a plaint
b) order of dismissal for defauit
c) determination of any question within section 144,

d) none of the above

A judgment debtor under the Code of Civil Procodure means?

a) any person against whom a decree has beeu passet
b} any person against whom an order capable execution has been made
c) a person in whose favour an order capable of 2xecuticn has 'been passed

d) both (a) and (b)

No court shall try any suit or issue in which the matter directly and substantially in issue
has been directly and substantially in issue in a former suit befween the same parties.
This principle is known as?

a) res nullius b) res ipsa loquitor c) res judicata d) res gestae

Raju who resides in Chandigarh publishes in Lucknow statements defamatory of Sunil.
Sunii may sue Raju at?

a) Chandigarh

b) Lucknow

c) either at Chandigarh or at Luckiaow

d) at the place where Sunil permanently resides

An attachment of property made for non compliance under Section 25 of the Consumer
Protection Act may be sold if the non compliance continues for?

a) more than three months b) more than two months

) more than six months d) more than an year

The pecaniary jurisdiction of the National Commission under the consumer protection
Act is?

a) 20 lakhs and above b) 50 lakhs and above

c) one crore and above d) 2 crore and above

Who will be the Chairman of the District Consumer protection: Council?

a) the president of the State Commissicn b} district cotlector
c) the law minister of the state d speaker of the state assembly

2.5 Eng-Page 11 of 12



97.

98.

99.

100.

Whenr after considering the matters before it, the court «ither believes that it does not
exist or comsiders its npom existence so probable that a prudent man ought, under the
circumstances of the particular case, to act mpon the supposition that it does not exit, the
fact is said to be?

a) proved b) disproved ¢Y approved d) not proved

According to the Indian Evidence Act an admiission constitutes?

a) a conclusive proof of the facts admitted
b) prima facie proof of the facts admitted
c) both conclusive and prima facie

d) neither conclusive nor prima facie

A statement oral or documentary which suggest any inference as to any fact in issue or
or relevant fact in a criminal case will be called?
a) admission b) confession  ¢) estoppel a) res gestae

The member of 2 Union public Service Commission shall hold office for a term of?
a) five years  b) three years  ¢) six years d)  four years
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Key 2.5
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